
<uuuau3Luqhn Nl
rqbSnFGgUL qUnhPlbnh <UUUF blbqlUennh <UuU31,PU'rlbSUnULh PUrLUPUghLbl-rh

UrnuUUnqUUL qnUUbL3Uqh qnr€Ph U Pnlt3ubnh AbnPPbnUUl, UUSUqUPU0UUL

'rlu3t [U1,Uqn nhu AnOntu n FfA3n f'LL bn q USUn bLnF IIUUhL

p. bqhqLurdnp n10) hnLtrfru[r 2024p.

bqbqtrur6npfr hurdu4trBuqbmurpulLp, fr 4brlu hulJulLBfr qbl.1u{urp n.(urpnplnrt{urLh, npp qnp&nttl h

hurdultriurqhLnu.rpurtrfr t4utntrur4pnrplurtr hfrrfutr {frr-u, u4unLhbr.n <9Lnprp, rlfr l4nqrlfrg' U <<<UAUIUCbL>> Uq- h

rybilu tniopbtr .{. en2nrn;utr-fr, npp qnp&nul h uq-h lurtrntru4pnrplurtr hfrfurL {nr.u, r.ulunLhbLn <ultudtlnnrp rllnru

ttntdhg, hhrlp p1rlnLtrbln{ 
'12.01.2024p. 

t4trp{u6 N (qau-b<-q<U'\AP-24lqlr qu4rluLurqpfr (utlunLhhm'

"r*1,i*t *q1'n) g5 'h 
o4unLrlubpfr duufrtr> (( opbtrp[ 23-p4 hnq{ur6h l-ht] tluufr 3-prp t4bmbpp,r.lrnfuur4urpd

hullu.r6r.ultrnplr.urlp tatrpughtl unr.;tr (u.tlur6ultrulqfrpp hbLnL;urft rlulufttt.

1. <UUUAU3LUqFh UftUnt'''UL
1.1 gtrB{ur& quldu.rtrurqph ph{ t hur{b[ru6n{ trufuumhur[u6 l-frtr lul.,hupurd[trtrbpfr puLulp ur{b1ugLh1

hullurqurungrufuurLlrpurp lnrpuBurLlnLp lurrfrupurdtrfr ptr4hurtrnrp qtrfr 10 unnlnufr turthn{' hullurdu4tr l{frg

<ur{b[u61.1-[:
t.Z 'lurlrlurUurqnh 3.1. tlbLnp 2urpur4phltrnp furfptnqpnrplurdp' hhunl4url pntiultrryul.lnLplullp.

3.1 Au4dgrtrurqpfr pLrlhutrnlp qfUp lurqrlnLd h 49200 (Bunurunrtrfrtrb hr.uqurp bpt,;nr huplnrp) ( [pud:
.lurlrluuurqpf, qf,Un trbpurnnul I qtr-rldurtrurqpfr t4urr.nurpnLdtr urquhn{b1nr trululunurl{n{ clr-lr6unnqlr t4nrl,lhg

14urururp{bfrp pn[nn r{6urptrbpp (6tufuubpp), ur1rl ptlnrtl' hurpl4bpp, unnLppbpp, rfn[uurrprlurl, urr4uhn{uqpdutt

6u[u ubp p, qupqtrur {6 untr hn n tr ulaL t,; utltln 11 2urh n q pg:

Uqpurtrpfr'duLnurtqupurprluL qirtrp lurlnLL h h uhrdurnnrltr [rpur{nrtrp lnrtrfr qurhurtrgbl ur{b1ugtrb1nr, hul{

QLnpryp tr{urqhgtrblnL u4ry qfrLP:

i.S "rrj,l*trurqirpp/hullurdurlLurqfrpp/ 
urt{blurghhl Lnp' hul[b1t{ur& 2.1-n{ hullrr-rdurlL <ut{h(ur6[:

2. <Uriuau3Luqnh qnnb'nnnFra3uL duuqbsc
2.1 Unql (ullurdrultrulqfrpL nLdfr dbg | iluntrnrd h knrllbpfi hullurp qurpmurrlfrp h rtrr.r.rntrnrd t4Lptltltl qrlhfrg:

2.2 trnrtilUpp rlfrgtr LurfutafrtrnLd dhnp pbpt{tu& pnlnp qpur{np hulLudrulbnLplnrtrLbpp qnp6ntrl btr urlLpuLn{,

n pputr n { thb h urlurunrrl u nqtr (tuf tl6 utltr ulqpfr r1p n U 
ptl hphb :

3. U3L4lU3tJULLbn
3.'l t1nrplbpp qr.umgufuuuburunr{nrplnLtr bU Ipnrd (ur.yuur"nr.utrfr (ulLpr.r.rqbunnrplurtr opbtruqpnrqr,udp

uuhdutr{u.r6 t,;upqn{:
3.2 UnL1tr 

'(gr|.udultruqnh 
llur4url4gnLpprfp Sruqur6 {h6bnn 1nL6{nLd bL purtrurlgnLplnLtrLbpfr d[2ngn{:

(ududu.rlhnplnrtr dhnp lphphlnL rybqpnLd {ffihnn 1nr&{nLrl btr +urr,nurlutr qupqn{:

3.3 UnLltr (llludulLuqpnLd 1tr2{ur6' alurlilurtruqpn{ tanrldbpfr urnuLdtrur8 frpur{ntLpLbpL nr

q ur p r.n ur t 
1 
utr n rp1 n Lbtr bp I rltr n Ld bU u.rtr r,,h n qh n [u :

3.4 (ultlqrdurlluqhnO Utrp{nul h 2 opfrLurt4frg, npntrp nrtrhb hul{rluurpulqnp frptu{upurtrurl4urL ntd h

.; 
nLp urButrl nrp Q n rllfrL m p {n rrl I rlb! ur 14 utL op frtr urt4 :

3.51nUU(grpdurllurqf'pp hrrLrlf'uuuLnrd h N oL[aLI-b<-q<Uqap24l\1" qurlilurtrurqpfr urtrpudtuLbfi durup:

qLnn+
bqbqL ur6 n p[r h u rlu4trpu qbLnurpuL
(uugb' p. bqhqtlldnp CurhnrrllurtrJ

<{<<'08917624
</(' 900352101142

q_uduftnrt
n(uuqupur2btt,, Uq
P.$ur{urn, {.Qn2nun1ultr 1

ULrPU purLt4 PPD 9brlurppnrtrfrp d/6

<l<220083330203000
<q<< 08400329

{.Qn2nr.n1urtr

,I;#*i
Elr' J;,$'!
ts ,/&:Tw

...":1'; ,f,;,ll
.iiir-i*,'nun'

C8ziCi329

s.!t



g
ot

,f
3e
fa

p
35q
3r
35
3
s
35

trJ
S
5
3b

gJ
E--Sci5.3 s+;rl5C\+5 -o€.350
r -?ov ;(")

3=
:l
O.l
501

q6nmq

e-

€3
orrE-'Ue

t1
]5/J

EcJ_= 5-
C-cJfpf
sO!

e

=\lPd=

-e--c dv
€., v

oo
a..l
o,*

e=

5g-s dv
o
N
O)s

": Et
fL

45

S
3s

CJ

3

}:
EL

3
3

5

.J
_a-5
5

EeE* 
= 
c:'ggeeigssEi

EaEcaEggi;EEEEEiE
_agg:.-.= 1Effr s EB = 

5::
,5 - -t

-eT;,E? 5 E 
^=rct:- i = 

g 
= =E 145.? 
= 

€

=" 
#E E +='<rf=

E
E
3
=p
3

5i*s:B?+Hg5=39gsEgE': t'S 5 EE.#f Eg;: E :5r-i€ f q I -JEIB- ---s=....- 3+aFs 1i gE.,i *@gE "rg E++5=;lEE+i=€ =E'=E-iiq+tH'= iE33*=EE=ESj
3p' +E ts.EE E; 5 =+E +EE

gE$=$gE= laa
Ir)
o
ff)

lr)

coo

+? i-=+ 3 3 + ?€ r 3 = *

-${_

=E$.rr .E .S5s3
5X* J3N=V-s+c-

E$
i:t

Nrt}5\
It
CL
ct
G:l

s
u
N
sa
p

q)
cl)L
C
q)
)
=JJ
5
=i
J
=b
Jt

I

c_ct
=eL
C
J
CL

Ja
J

=Jt-
J
-al)a



3

=
c!
E
ej

E
=J5

=
S

=c-5
f
c
J

r'W,D

/x{t
C.",-il,J

H#6;titt:li.;a'\n,\d.^1 t..'ii:!w

4 r'L
{:!l
JJ lJ i.l

-'. ,a.

: .ri

";J 
T

a!

<f
cf,
c)

3
Le

\o\5c9r
L

+4
=c)ArY3 :t

= E 1=' -r=5
- =tco4 Fc.r R -:-dcrctc\
=v-atd)d)

B,- 
=E 

€i i Joco
=q rro o
*i=Nv
€tivY

PI

c-J

=E
C-L:-c
c_ TA(_ =()J olc-dE€

.= r (\-? <$.+N{ 5-c\ '- l:

=l3-R 
E E

.L-F:TUc-J) o) l,I Nc 6:,i tr)
€ oro ij 9Q<.AU
=l--v^B e:,, o' 55-=:*V.V
LJJ\\DVVVV

-l-€99
-icf=J5

- J5 - =935NE
F-:,3E59
-jj.+il-!Ycol\rft ?d 51s
vi.4Y +-=Z
= = 6 t-=

= 
E? +--a

=.e=ectUSIJE
7s i J

Jf

5
j

o
cr)

I

c.l
EJ

cl
3
3e
s

'=$gcJEJ
5J5-.5Es
=-eic=<Jff:fa==4I r _ )B' =
=.-i9=.SN;aE B€o I i 5Eo F,-oEa=
.: co C'clo tr J 

=-6..ai$iJ,o
-d:' 

E O J La d
e'El! :91 =:i 5j vO ^ i,u - 7 =E-.-3?s-e-io
B,: 

= 
3^248

- 1 JE 3 3



ffi;s
. -:;i i)_,r+4 <1<-.rJ co
'iz:: 

v

iiaa a

_t5

f
J

O
caoc\
O
cr)
ca
co
@o
O
C\c\

v

(o\
Cot
L!

J
vF=5 ei
-r3= e'-l:,

- dda FY c-r
1.EcL
-.u5f -N= npJc=

=5.cL)JJdIJIJCL
.iu.Jvot=

=,5c-53=-
.5c

C-E,-c
C- TI(- rI')
) al-
cl ,r' -fro

E io$
.=EE=
El5ail
E .6:{€ oro i5I-,-- O*6,V o),+=Yv
.DVVV

ot
J5
f
E-
f-

.E.J.b

!5 tt'3
==E

TEr+ e!5NJ'f
O ELE
N g-5

l,E.s -
E,Egg
E E.; ez1 E-E.- F
!==e

=.o=i=++e o-'

E FAg
EE.f,+
_e-Jo t5

E E e'EE:SEl 3-
i-!-:rt
Es-.=
E=-=Ei.E i=to 5 =l'i=r r eE

===ls 5.3gr= 
= JJ

55EE

CJ€
3
f
J
CJ

ooc{
O)
$

dqdpqunlqt 00e6v

dqdpqtuq UUCbV

Uqdpqmluq UUCOT

dqdpqLntnqn 0026v

nuunubo ooz6v

n{ruq 0026v

n{qruq

n{lmp

Itldtnm

urdmp

dmldm4{r

dmlrqruq

c.l

J5
3J

jJ

3

la H {s}
lie; =EEI.i
ll f E>.i=E

IEe?ss-;s?.,acc.=

EEE Zi+E ^

g f,$B:EEE
sE gElaai
E p-'rr f E f S.E,

EEg+g+;E
5: + i,EE Eg
5gI;AEE E

E#g lr'tEEE
€ x fl? s a E E

Eg tSEE'?E
€s€ +EE?
= 6ch = 

E 
= *,lursEzZflr*'rE 7-;. ?-vH 

=-v 
5 H -

B a g;Eii
.} E- EEE

g

=,= t =-|5 5eb j I
j5Jr=

-5-p 7,

i3E
2il3oEQ]:E
=a_=sN+
3N=V s-Siss=_

i:€
s-3
- ..lo
a

Nq

=5=N
qt
Sd
s.s
u
il
sav

g)
CD

C
q)
a
Ja
Ja
5
=b
JJ
5
c_

=Y]J

J


